



***Nombre del alumno: Elisema
Jacqueline Cruz Cruz***

Docente: Juan José Ojeda Trujillo

Materia: Calculo

***Carrera: Bachillerato en enfermería
general***

1. $y = 2x^3 - 3x + 9 = y = 2x^3 - 3x + 9$

$$y = \frac{d}{dx}(2x^3) - \frac{d}{dx}(3x) + \frac{d}{dx}(9)$$

$$y' = 2 \frac{d}{dx}(x^3) - 3 \frac{d}{dx}(x)$$

$$y' = 6x^2 - 3$$

$$y = 3(2x^2 - 1)$$

2. $y = 4/x^2 = \frac{4}{x^2} = 4 \frac{d}{dx} \frac{1}{x^2} = 4 \frac{d}{dx} x^{-2} = -8x^{-3}$
 $= -\frac{8}{x^3}$

3. $y = 5/4 + x^2 = y = 5/4 + x^2$

$$y' = \frac{d}{dx}(5/4) + \frac{d}{dx}(x^2)$$

$$y' = 2x$$

$$4. Y = x + 2/x = x + 2/x$$

$$Y' = \frac{d}{dx} (x) + 2 \frac{d}{dx} \left(\frac{1}{x} \right)$$

$$1 + 2 \frac{d}{dx} (x^{-1})$$

$$1 + 2x^{-2}$$

$$\boxed{1 + \frac{2}{x^2}}$$

$$5. Y = (a - bx)^2 (a - bx)$$

$$\begin{array}{r} a^2 + abx \\ - abx + b^2x^2 \\ \hline a^2 - 2abx + b^2x^2 \end{array}$$

$$Y = a^2 - 2xbx + b^2x^2$$

$$\frac{d}{dx} (a^2 - 2xbx + b^2x^2)$$

$$\frac{a^2}{dx0} - \frac{2xbx}{dx0} + \frac{b^2x^2}{dx0}$$

$$0 - 2b$$

$$6. y = 2/x^2 + 4 = \frac{2}{x^2} = 2 \frac{d}{dx} \frac{1}{x^2} = 2 \frac{d}{dx} x^{-2} = -4$$

$$= y = 2(x^2 + 4) - 2(2x) = -4x / (x^2 + 4) 2$$

$$d/dx = -4x / (x^2 + 4) 2$$

$$7. y = (1 + 2x)^2$$

$$y = (1 + 2x)^2$$

$$d/dx = 2(1 + 2x) 2 = 4(1 + 2x)$$

$$8. y = 2 - x/x - 2$$

$$y = 2 - x/x - 2$$

$$d/dx = u \cdot v' - u' \cdot v / v^2$$

$$u = 2 - x \quad u' = -1$$

$$v = x - 2 \quad v' = 1$$

$$d/dx = (x-2)(-1) - (2-x)(1) / (x-2)^2$$

$$-(x-2) - (2-x) = -x + 2 - 2 + x = 0$$

$$d/dx = 0$$